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Tanta University Technical English
Faculty of Engincering First Term Exam
Preparatory Year February 2008

Answer the following seven questions . Time allowed : 2 hours

1.

Write about ten lines on one of the following topics -
(1)  Semwconductors

(2)  Graphic language

(3)  Newton’s laws of mation

Complete the following statements -

(1)  Post-modern architecture means ..., . ............ ...
{(2)  Heatis said to transfer by convection when . ...
(3)  The hypotenuse is T G5 e v iomy e 11 1t omaort
(4} Aparabolasdefinedas . ... ...

(3)  Hooke’s law states that. ...,

Choose the most suitable expression -

(1) The circumference of a circle is ( practically, approximately.
probably ) 3.14 times the diameter

(2)  Mercury is most commonly used in thermometers. ( has
have, having ) a constant coefficient of expansion

{(3)  The thrust ( acting, exerting, exerted ) on the rear pipe 15
( acting, exerting, exerted ) by the exhaust gases

(4)  The copper losses are dissipated ( as, such as, as such ) heat

(5)  The specific ( grave, gravity, gravitation ) of a material is the
ratio of the density of the material to the density of water .

Answer_the following according to_the requirements given in

brackets -

(1) You should find the study of computer programming very
useful (Decide on the meaning of * should = ).

(2) A thermocouple consists of two ( Join ) of two different
metallic wires (Use the abstract noun of the verb doin ™),

{3)  The inefficiency of this type of measuring instrument |, [t was
abandoned . ( Link the two expressions using “lead to ) .

(41 There is no difficulty in converting temperatures from the
Celsius scale to the Fahrenheit scale ( Rewrite the statement
using the pattern : It is — adjective = to ) .

(5)  Contrary my expectations, therc was no need 1o be

uneasy ... the results of the experiment | ( Supply the missing
prepaositions ).

continued on page 2
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V' Translate into Arabic -

Charles  Augustin - Coulomb  ( 1736-1806 ) developed the
fundamental law of force for stationary charged particles . In recogmition
of his contribution, the practical umt of charge is called the coulomb
Coulomb’s law states that the agnitude of the electric force between
two charged particles 1s directly proportional to the amount of charges
and inversely proportional te the square of the separation distance . The
law involves the result that the force is attractive if the charges have
opposite signs and repulsive if the charges have the same sign |

VI Translate into English
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VI Give the meaning of the following technical terms :
Abscissa
Combustion
Difterential equation
Earthquake-resistant structure
Environmental engineering
Fractional distillation
[Lathe
Mass production
Moment of inertia
Performance ¢niterion
Reinforced concrete
Soil mechanics
Thermodynamics
Viscosity

BEST WISHES
Prof. Dr. Mahmoud M.Fahmy
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